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- 2 R 75 R =2 B F
PSI | 5%+ | PSI ik X PSI | A%+ | PSI | %%+ |PSI|i7%+
104#5% 01p 60 03 70 PM10 68 | PM10 | 64 PM10 68 | PM10
104#5% 02p 59 03 54 03 60 03 52 03 53 03
104#5% 03p 35 03 37 PM10 41 | PM10 | 29 PM10 33 | PM10
104#5% 04p 52 03 50 03 45 03 44 03 46 03
104#5% 05p 27 | PM10 | 45 PM10 52 | PM10 | 45 PM10 46 | PM10
104#5% 06 P 55 03 59 PM10 58 | PM10 | 56 PM10 56 | PM10
104#5% 07 54 03 56 PM10 63 03 52 PM10 54 | PM10
104#5% 08 p 61 03 64 PM10 64 | PM10 | 63 PM10 64 | PM10
104#5% 09p | 46 03 49 PM10 49 03 41 03 45 | PM10
104#5% 10Pp 53 03 57 03 57 03 50 03 50 03
104#5% 11p 30 03 59 PM10 59 | PM10 | 52 PM10 52 | PM10
104#5% 12p 62 03 68 03 79 03 68 03 68 03
104#5% 13p 75 03 67 03 84 03 80 03 81 03
104#5% 14p | 46 03 38 PM10 44 | PM10 | 38 03 40 | PM10
104#5% 15p | 47 03 38 PM10 43 03 34 PM10 38 03
104#5% 16 53 03 32 PM10 32 | PM10 | 41 03 41 03
104#5% 17p 52 03 41 03 31 | PM10 | 48 03 45 03
104#5% 18p | 47 03 42 03 36 | PM10 | 41 03 41 03
104#5% 19p 35 03 31 PM10 33 03 28 03 32 | PM10
104#5% 20p 25 03 25 PM10 25 | PM10 | 17 PM10 23 | PM10
104#5% 21p 28 03 38 PM10 27 03 28 03 30 | PM10
104#5% 22p | 42 03 41 03 53 03 48 03 43 03
104#5% 23p 26 03 41 03 29 03 25 03 32 03
104# 5% 24p 28 03 27 03 25 03 25 03 27 03
104#5% 25p 33 03 51 03 45 03 40 03 43 03
104# 5% 26 34 03 52 PM10 45 | PM10 | 42 PM10 51 | PM10
104#5% 27 26 03 27 03 18 03 24 03 20 03
104#5% 28p 28 03 32 03 32 03 31 03 30 03
104#5% 29p 32 03 31 PM10 31 03 29 03 32 | PM10
104#5% 30p 31 03 35 PM10 32 | PM10 | 27 03 33 | PM10
104#5% 31p 39 03 37 03 30 03 30 03 34 03
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104#5" 01 82 | PM10 | 65 | PM10 68 PM10 | 71 | PM10 | 65 | PM10 | 65 | PM10
104#57 02p 56 | pPM10 | 56 | PM10 57 PM10 | 65 03 51 | pm10 | 50 | PMm10
104#5" 03p 42 | pM10 | 40 | PM10 39 PM10 | 46 | pm10 | 31 | PM10 | 35 | PM10
104£5" 04p 40 | pm10 | 50 | PM10 43 PM10 | S0 | pm10 | 41 03 37 | PM10
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104#5% 12p 65 03 65 03 71 03 79 03 48 | PM10 54 03
104#5% 13p 69 03 70 03 70 03 90 03 66 03 65 03
104#5% 14p 48 | PM10 | 52 | PM10 39 PM10 | 46 | pm10 | 39 03 40 | pPM10
104#5" 15p 48 PM10 | 48 PM10 39 03 41 03 39 03 44 PM10
104#5% 16 37 PM10 | 40 03 39 03 43 03 42 03 36 PM10
104#5% 17p 35 PM10 | 40 03 44 03 53 03 47 03 35 03
104#5% 18p 37 PM10 | 41 03 36 03 42 03 44 03 41 PM10
104#5" 19p 40 | pm10 | 40 | PMI10 29 PM10 | 37 | PM10 | 34 | 03 37 | PM10
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28 Lpd Rt 5491048 1~-57 ToE 2103 F & I2E R
wp | Hi P AR A IR R 2 AR AR AR A 3 R L
103 T 35 29(33[31(32(31|40| 31 | 25 | 22 | 41 | 32 | 45 | 45|47 41|42
SOz | Ppb [104257 =35 [28 (29 (3026|2836 32 | 29 | 1.7 | 33 | 20 | 38 | 6.0 37|27 |42
104157 T35 | 27129|30(30(29|42| 33 | 27 | 24 | 38 | 26 | 43 |47]46|32]50
103 T 35 10.4/14.5/18.4/19.0/15.9|16.8| 11.6 | 13.8 | 16.1 | 24.4 | 149 | 16.6 |14.0|15.4/15.9|12.3
NO2 | ppb [104257 =45 [109[135(155(15.5(15.0(17.3] 15.6 | 12.9 | 14.2 | 12.4 | 10.8 | 146 |13.9|12.4]| 9.9 | 9.9
104#1-57 T35 (131/15.0(20.6/19.7(16.6/19.3| 135 | 16.9 | 21.9 | 185 | 16.7 | 17.7 |14.5|15.5|15.9/12.5
103 T 35 31.9/30.9(27.6|27.4(28.0| 29.8| 25.4 | 245 | 22.7 | 24.0 | 29.5 | 26.1 {30.4]30.3|22.2|20.9
Os | ppb (104557 35 [2p8]259(204(204(229(232] 238 | 182 | 202 | 206 | 203 | 18.4 |21.8/23.226.8[27.8
104 1-57 T35 |30.7|31.3|25.9|25.3(29.5|26.9 | 31.4 | 21.8 | 209 | 26.7 | 25.2 | 25.4 [28.1|31.1|24.2|32.3
103 L 34 0.39/0.36/0.52|0.51|0.38| 0.64 0.37 | 0.60 0.48
CO | ppm 10425 =35 |044]0.32]0.41|0.42|0.28] 0.55 0.23 | 0.45 0.59
104 1-5" T 35 |0.46|0.39|0.55|0.53|0.39| 0.64 0.25 | 0.52 0.53
1034 T 35 0.14 0.24/0.19(0.22| 0.59 0.44 | 0.60
NMHC| ppb (104257 35 |15 0.22]0.15/0.19] 0.50 0.31 | 0.46
10421-5" T35 (015 0.24]0.19/0.21|0.45 0.35 | 0.45
103 T 35 45 | 54 | 58 | 50 | 54 | 53 | 64 | 57 | 57 | 68 | 58 | 74 |62 |47 |54 |67
PMi | #oim® 1104252 =35 |28 |42 |41 |34 |40 |37 | 50 | 48 | 40 | 45 | 45 | 52 |51 | 34| 43| 47
104#1-57 T35 | 43 |55 |58 | 50 |55 | 54 | 64 | 64 | 58 | 66 | 51 | 73 | 65| 54 | 61 | 68
1034 T 35 24 | 31|31 |28 |27| 31| 32 | 22 | 31 | 31 | 31
PMgs | vom® [10455% 235 [ 19 |16 22|19 |19 |17 | 16 | 9 | 9 | 18 | 14 | 32 27
10421-5% T35 | 23 | 23 |30 |29 |27 | 28 | 24 | 21 | 26 | 29 | 29 | 42 39
R AGHEZERITED o FkE L4 p[EE104E B 4% PIPMas
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